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w/NE HEBEBERNEGZONTR, IXTOEHZ 1
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ZNOEHEN0DEE, N=%DIF3), 1-1.....1=1

X Y Zz | F | ®1hE |

0 0 0 0

0 0 1 0 -

0 1 0 1 X-Y-Z

0 1 1 0 -

1 0 0 1 X.-Y-Z

1 0 1 1 X-Y-Z

1 1 0 1 X-Y-Z

1 1 1 1 X-Y-Z
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X Y z | F | ®E | EXE
0 0 0 0 X+Y+2Z
0 0 1 0 - X+Y+Z
0 1 0 1 X-Y-Z -
0 1 1 0 - X+Y+Z
1 0 0 1 X.-Y-Z
1 0 1 1 X-Y-Z
1 1 0 1 X-Y.Z
1 1 1 1 X-Y-Z
F=X+Y+2Z) X+Y+2Z) X+Y+2) BARIEDmERE
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0, 10ZNZTNDHEAEGHEICDOWNT, ZTDEH 0 DFF
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X Y Z|F|F|Fos/Nh&|Fos/NE| FORKE
O O 0|01 XY Z X+Y+Z
O O 1|01 XY Z X+Y+7Z
O 1 of|1]|0 XY Z
O 1 1]0]1 XYZ X+Y+7Z
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X Y Z|F|F|FOosNEFORNE|FORKE
O O 0|01 XYZ | X+Y+Z
O O 1|01 - XYZ X+Y+Z
O 1 o|1]|0 XYZ -
O 1 1|01 - XYZ X+Y+Z
1 0O O]1]O0 XYZ
1 0 11160 XYZ
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AEMHRBEOEE (Verilog HDL)

‘timescale 1ns/1ns
module sum_prod_exl (X, Y, Z, FSUM, FPRO);
input X, Y, Z;
output FSUM, FPRO;
/] FSUM = XYZ+XYZ+XYZ+XYZ+XYZ (B/NBOREF)
assign FSUM = X & Y & "Z |
X& Y& “Z |
X& Y& Z |
X& Y& “Z |
X& Y& Z; // sum of products
// FPRO=(X+Y+Z2) X+Y+2) X+Y+2) (BRARIEDHIEIE)
assign FFRO = (X | Y | 2) &
Xl Y| "2 &
X | °Y | Z); // product of sums
endmodule sum_prod_ex1.v
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https://yamin.cis.k.hosei.ac.jp/lectures/logic/sum_prod_ex1.v

HBAHBEOER (72 <> F)

reg X, Y, Z;

initial begin
#0 X = 0;

end

always #1 X =

always #2 Y

always #4 Z

initial begin
$dumpfile
$dumpvars;

end

endmodule

‘timescale 1ns/1ns
module sum_prod_exl_tb;

wire FSUM, FPRO;
sum_prod_exl i0 (X, Y, Z, FSUM, FPRO);

Y=0; Z=0;

#8 $finish;

~X;
~Y,
~7:

("sum_prod_ex1.vcd") ;

sum_prod_ex1_tbyv

SRBCA S R 25

REEEEAP (4)

20244108 158 (k) 13/28


https://yamin.cis.k.hosei.ac.jp/lectures/logic/sum_prod_ex1_tb.v

IR A SR IEEAR D B E8 ((RIT)

% iverilog -Wall -o sum_prod_exl \
sum_prod_exl_tb.v sum_prod_exl.v

% vvp sum_prod_ex1

% gtkwave sum_prod_exl.vcd

GTKWave - /Users/yamin/logic/sum_prod_ex1.ved

A

Qe & & From: 0 sec To:8ns =
4 n _only.ved n _of_sums.ved IUserslyaminfiogic/sum_prod_exi.ved P
- SST Signals Waves
EEETYTrCE. T
X
Y
Type Signals = z
. FSWM
i FPRO
Filter:

Append Insert  Replace

FPRO (RREDWERE) === FSUM (R/NEDFREM)
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Y =

o RNEDREM = WEER = IEEER
F=XYZA+XYZ+XYZ+XYZ+XYZ

0 BRAHENREMW = MWEER = RHEER
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0 M = FEH = MBS NIHRBRER

F=X4+YZ=X(Y2)=X{Y+2)=XY+XZ
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F = XY i BE (nEk)

0 MK = FEE = HEA I NI-MRRER

F=X+YZ=X(YZ)=X(Y+2Z)=XY+XZ

FoF=XY+XZ R ELAYORA, HEE
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smIE = DA & FTET

0 SNEDFHEM = MMRER = IERE
F:XYZ+XYZ+XYZ+XYZ+XYZ

0 BREDREM = MMITER = THITER
F=X+Y+2Z) X+Y+2Z)(X+Y+2)

@ WA = MLk = ME S n-BAIEER
F = XY i BE (nEk)

Q0 MIEN = JEE = BEL S NI MRFRER
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F=F=XY+XZ + R B DK HEE
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Y =
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0 BAEOREME = MEIBER = THTER
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smIE = DA & FTET

FSUM =X+VYZ | (hnER)
FPRO = (X +Y) X+ 2) Mgk (F|EER)
X

FSUM

: BRI (I03EF)
w@— FPRO
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BT & B DBl (Verilog HDL)

FSUM=X+VYZ BANE (ER)
FPRO = (X+V) (X+2) MER (FTER)

‘timescale 1ns/1ns

module sum_prod_ex2 (X, Y, Z, FSUM, FPRO);
input X, Y, Z;
output FSUM, FPRO;

assign FSUM = X | Y & "Z; // sum of products
assign FPRO = ( X | Y) &
(X | ~Z2); // product of sums
endmodule sum_prod_ex2.Vv

> EBR BRSPS REEEEAP (4) 2024 % 10 B 15 H (X) 17/28
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‘timescale 1ns/1ns
module sum_prod_ex2_tb;
reg X, Y, Z;
wire FSUM, FPRO;
sum_prod_ex2 i0 (X, Y, Z, FSUM, FPRO);
initial begin
#0 X =0; Y=0; Z = 0;
#8 $finish;

end
always #1 X = 7X;
always #2 Y = 7Y;

always #4 Z = "Z;
initial begin
$dumpfile ("sum_prod_ex2.vcd");
$dumpvars;
end
endmodule sum_prod_ex2_tbyv
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A & AIE T O B (877)

% iverilog -Wall -o sum_prod_ex2 \
sum_prod_ex2_tb.v sum_prod_ex2.v

% vvp sum_prod_ex2

% gtkwave sum_prod_ex2.vcd

GTKWave - /Users/yamin/logic/sum_prod_ex2.ved

= ) @ 1 A

Qe & & From: 0 sec To: 8 ns =
4 1Usersiyaminfiogic/product_of_sums.ved  /Usersiyamin/iogic/sum_prod_exi.ved  /Usersiyaminfiogic/sum_prod_ex2.ved
- ST Signals javes

OENTYTYTIN Tive

X
....... Y
Type Signal z
, FSM
i FPRO
Filt
Append  Insert Replace

FPRO (7H] f‘fﬁ/) _— FSUM (F|A)
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N G = Pt
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BT & B DBl (Verilog HDL)

FSUM=AB+BC+BC
FPRO=(A+B+C)(B+CQ)

B
M

(IEHE)
(F|ER)

‘timescale 1ns/1ns

input A, B, C;
output FSUM, FPRO;

assign FSUM = "A &
B &
"B &
assign FPRO = (7A |
("B |
endmodule

module sum_prod_ex3 (A, B, C, FSUM, FPRO);

; // sum of products

| ~C) &
; // product of sums

sum_prod_ex3.v

2024 % 10 A 15 B (X)
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‘timescale 1ns/1ns
module sum_prod_ex3_tb;
reg A, B, C;
wire FSUM, FPRO;

initial begin
#0 A = 0; B=0; C = 0;
#8 $finish;

end
always #1 A = 7A;
always #2 B = "B;

always #4 C = “C;
initial begin
$dumpfile ("sum_prod_ex3.vcd");
$dumpvars;
end
endmodule

sum_prod_ex3 i0 (A, B, C, FSUM, FPRO);

sum_prod_ex3_tbyv
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A & AIE T O B (877)

% iverilog -Wall -o sum_prod_ex3 \
sum_prod_ex3_tb.v sum_prod_ex3.v

% vvp sum_prod_ex3

% gtkwave sum_prod_ex3.vcd

GTKWave - /Users/yamin/logic/sum_prod_ex3.ved

Y @ | A
Qe & & From: 0 sec To:8ns =

4 Usersiyaminfiogic/sum_prod_exi.ved  /Usersiyamin/iogic/sum_prod_ex2.ved  /Usersiyaminfiogic/sum_prod_ex.ved

- ST Signals Waves

OENTYTYTN Tive

A
....... B
Type Signal C
. FSWM
i FPRO
Filt
Append  Insert Replace

FPRO (7H] f‘fﬁ/) _— FSUM (F|A)
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H%IEQ (100 /\\\)

ROGEXZBHEHD) HBRICEFLL TTFI W,
FSUM=A.C.-D+B.-C-D+B-D
{3
F_PRO = ([]+[]) - (LJ+[D-(J+1)
E> b FSUMoHDAEA,IC, B-C = B-C-(D+D)
Inill, Z20mEA F_.SUM & F_PRO % Verilog HDL
TEELYIaL—va v L TFEL,

EY a2—IL&IF product_of sums IZd 3 Z &,
TR M RYF product_of_sums_tbyv ZfE > TF XLy,

LR— b~ ow/AIER: (1) #wE F_PRO OEH@EIE,
(2) EED Verilog HDL a2 — K, (3) K &R D AR,
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R IV (100 /&)
FSUM=A.-C.-D+B-C-D+B-D

F_PRO = ([1+[])- ((J+[) - ([J+[])

‘timescale 1ns/1ns

module product_of_sums (A, B, C, D, F_SUM, F_PRO);
input A, B, C, D;
output F_SUM, F_PRO;

A& C&D| B& C&D | "B& "D;
C L yeC I >&C | )

assign F_SUM
assign F_PRO

endmodule product_of_sumsyv
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